| N of simulated tracks vs dxy |

N of associated tracks (simToReco) vs dxy |

o C . 0
@ : o
o : -
[T T S SR SO SO S SRR O SO SRS S kS
S0 : £10°
g r H =
S T : 2
|f_£103§— ------------------------------------------------------------------------ S
g o}
C X102
£ RS S PRI SCF S S S ) 000 0 00N 000000 0000 MO0 P00 AN SOSON hooos
i 10
10
1g|—- 15_ """
.QJ"UU-.I IQJ-.UUT- | S S S
IS : T §
= il i 1l S O SO S O 1| S SR SO S
' I : ?
0.5t LI DM GUMURUDRUL L PP SOOI UUUTE FUUUETUUL IO | DUULTUUE SO0 T
-25-20-15-10 -5 0 5 10 15 20 25 -25-20-15-10 -5 0 5 10 15 20 25
TP dxy (cm) TP dxy (cm)
—=— DQM_mkFit_TToriginal
| N of simulated trac —— DQM_mkFit_TT_pL
—— DQM_mkFit_TT_pLW
0 : : : : 7]
@ : o
Q =
3. 5 3
510 S 0
£ £10
= 7
[&] c
g 3
|_
102 ¢

30 20 -10 0 10 20 30

TP dz (cm)

=
o

20 =10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


